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HEDFIE: LLITOY>FILTAYS S L% Enacs TERL KL S,

#include <stdio.h>
#include <math.h>
int main (void)

{

float g L, T; /* EBEEETD */
g = 9.8; /* EBERATD */
printf ("Length [m]?\n”);
scanf  ("%f”, &L); /% FHEANTD */
T = 20 x 3.14159 * sqrt (L / g);
printf ("T = %9.3f\n”, T): /* BREHNT S */
return 0;

}
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QEYHAT 10 HEETHELEKS

EEXDFIE : siEMERL-7045 5 L% EF—L T, Enacs TR EE LS.
EFLEoHATFAILORNEZE gnuplot TEEILK S,

#include <stdio.h>
#include <math.h>

int main

(void)

int i;
float g L, angle, theta, x, wu,
dxdt, dudt, t; /*
FILE x*fp;
g = 9.8; /*
printf ("Length [m], angle [deg.]1?\n”);
scanf ("%f, %f”, &L, &angle); /*
theta = 3.14159 / 180.0 * angle;
x = L x*x theta; /%
u = 0.0;
fp = fopen ("output.txt”, "w”); /*
fprintf (fp, "“%9.3f %9.3f¥n", 0.0, angle);
/%
for (i=1; i<=1000; i++) /%
dxdt = u; /*
theta = x / L; /*
dudt = - g * sin (theta); /%
X = X + 0.01 * dxdt; /%
u = u + 0.01 * dudt;
t = 0.01 % i; /*
theta = x / L; /*
angle = 180.0 / 3.14159 x theta;

fprintf

(fp, “%9.3f %9.3f¥n", t,

angle) :

EREEET S +/

EBERATS +/

FUHEANTEH +/

DHEZRHET D */

T7A4INVERL */

WREI7ANIZHAT S */

FECAEZ 1000 B YET */

BRI 25t 8T S
AEZEHETS +/
BRI 25 HT D

*/

*/

ROBZDEZHET S */

REREZEHETS
AEZEHETS +/

*/
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}

fclose
return

(fp)
0;

/[ EREIFAIICHAT S +/

/¥ TFAIERALDE */
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RITLEOHAI7ZAILOREZE gnuplot THEEILEK S,

#include <stdio.h>
#include <math.h>
int main (void)

int i;
float g L, angle, theta,
X, U, xminus, uminus, Xxplus, uplus,

dxdt, dudt, t; /¥ BEBEEETD */
FILE #*fp;
g = 9.8; /¥ ERERATS */

printf ("Length [m], angle [deg.1?\n”);
scanf ("%f, %f”, &L, &angle); /* FHEANTS */
theta = 3.14159 / 180.0 * angle;

X = I6 0* theta; /* PIEMEZEHETS */
u = .0,
fp = fopen (“output.txt”, “w”); /¥ D7ANERL */

fprintf (fp, “%9.3f %9.3f¥n”, 0.0, angle);
/* EREIFANICHATS */

Eor (i=1; i<=1000; i++) /* ECALEEZE 1000 E#EYIRY */
dxdt = u; /x BREMAEHETE */
theta = x / L; /¥ BEEMHETL */
dudt = - g * sin (theta); /* BEWAEHET S */
if (i ==1) /* ROBRDEZHET S */

{
xplus = x + 0.01 * dxdt; /¥ BEIPEZTHEAEEEZD */
uplus = u + 0.01 * dudt;

lelse{
xplus = xminus + 2. * 0.01 * dxdt;

uminus + 2. * 0.01 * dudt;

up lus

15




}

Xminus = X; /% ROBRIZHED-OIZ +/
uminus = u; /*  XEX-IZRATS */
x = xplus; /% ROBRIZHED-OIZ +/
u = uplus; /* X +EXIZRATS x/
t = 0.01 % i /* BBBEEHETS %/
theta = x / L; /* AEEHETS */
angle = 180.0 / 3.14159 % theta;

fprintf (fp, “%9.3f %9.3f¥n", t, angle);
/* EREITFAIIZHAT S */

}

fclose (fp); /¥ DPAIEBRLD */
return O0;
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RER2 . RESZEALGVTERIELTZEATYIaLb—Y3 &L THED,
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